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QUESTION 1

Why would a vSphere administrator configure resource shares for a virtual machine?
A. To prioritize access to a resource during contention

B. To guarantee access to a resource during contention

C. To prioritize access to a resource at all times

D. To guarantee access to a resource at all times

Correct Answer: A

QUESTION 2

An administrator needs to deploy a vSphere solution containing a number of hosts and a vSphere
Distributed Switch.

Which steps should the administrator take to accomplish this?

A. Create the vSphere Distributed Switch, deploy the ESXi hosts, and then add each host to the switch.

B. Deploy the ESXi hosts, create an HA/DRS cluster containing the hosts, create the vSphere Distributed Switch, and
then add the cluster to the switch.

C. Create the vSphere Distributed Switch and as each ESXi host is deployed it will be automatically added to the
switch.

D. Deploy the ESXi hosts and then create the vSphere Distributed Switch on the hosts.

Correct Answer: A

QUESTION 3

An administrator receives the following error message:

Unmanaged I/O workload detected on shared datastore. Which vSphere feature is the likely source of this
error?

A. Network I/O control

B. Storage I/O control

C. Storage DRS

D. HA datastore heartbeats

Correct Answer: B
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QUESTION 4

A vSphere administrator can create an alarm on which two objects? (Choose two.)
A. LUN

B. Datastore

C. Template

D. Folder

Correct Answer: BD

QUESTION 5

A Windows Server 2008 virtual machine with the following configuration receives an Out of Space condition indicator:
The virtual machine uses thin provisioned virtual disks.

The VMFS5 datastore on which the virtual machine\\'s files reside is on a thin provisioned LUN.

30% of the VMFS datastore content is no longer needed.

The storage array supports VASA and VAAI.

Which action should the vSphere administrator take to resolve the Out of Space problem without requesting additional
space on the storage array?

A. Delete unneeded files on the VMFS datastore and then use vmkfstools to reclaim deleted blocks.

B. Delete unneeded files on the VMFS datastore, right-click the datastore in vSphere Web Client, and then select the
Reclaim Deleted Blocks option.

C. Delete some files from the guest OS and defrag its file system.
D. Delete some files from the guest OS and use vmkfstools to reclaim the deleted blocks.

Correct Answer: A
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